LAB Week 8

MATH 130 Section 2
March 14, 2019: Happy Pi Day!

Covering Sections 3.4, 3.5 and 3.7 “Your Name (Prmt) _Avswer Wey -

1. Differentiate the following functions and simplify your answers. For (a), see if you can find a trigonometric identity to

simplify your result. Explain-every answer through work and/or words.  Be sure to distinguish, between the function
and its derlvatlve
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where the tangent line is horizontal.
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3. Evaluate x.]i’njl m

(Hint: Use the technique we did in class where we introduced the variable 6.)

. Be sure to show each step carefully.
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4. Evaluate lim w. Be sure to show each step carefully.
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5. Suppose f'(2) =3, ¢'(2) = —4, f(2) = -1, g(2) =2, f'(1) =4 and g'(—1) = —2.
(a) If h(z) = f(g(x)), find k'(2). Be sure to show each step carefully.
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(b) If k(x) = g(f(z)), find k'(2). Be sure to show each step carefully{
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6. Given y = cos 6z, find E——ég Explain your work carefully.
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7. Fill in the following table to determine the derivatives of the given composite functions:
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and/or words. Be sure to distinguish between the function and its derivative

8. Now try differentiating the following functions and simplify your answers. Explain every answer through work
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